Answer to Exercise


Chapter 3 HKAS 8

Answer – Exercise 1

The income statement extract and statement of changes in equity for the year ended 31 December 2005 (with 2004 financial statements as comparative figures) are as follows:

Gamma Co.

Extract from the Income Statements

	
	2005
	2004

(restated)

	
	$
	$

	Profit before interest and tax
	30,000
	18,000

	Interest expense
	(3,000)
	(2,600)

	Profit before tax
	27,000
	15,400

	Income taxes
	(8,100)
	(4,620)

	Profit for the year
	18,900
	10,780


Gamma Co.

Statement of Changes in Equity

	
	Share capital
	Retained earnings (restated)
	Total

	Balance at 31 Dec 2003 as previously reported
	10,000
	20,000
	30,000

	Change in accounting policy for the capitalization of interest (net of income taxes of $1,560) (Note 1)
	
	(3,640)
	(3,640)

	Balance at 31 Dec 2003 as restated
	10,000
	16,360
	26,360

	Profit for the year ended 31 Dec 2004 (restated)
	-
	10,780
	10,780

	Balance at 31 Dec 2004
	10,000
	27,140
	37,140

	Profit for the year ended 31 Dec 2005
	
	18,900
	18,900

	Balance at 31 Dec 2005
	10,000
	46,040
	56,040


The nature, reason and effect of the change in accounting policy can be disclosed as follows:

Note 1 Change in accounting policy

During 2005, Gamma changed its accounting policy for the treatment of borrowing costs related to a hydro-electric power station under construction for use by Gamma. Previously, Gamma capitalized such costs. They are now written off as expenses as incurred. Management judges that this policy provides reliable and more relevant information because it results in a more transparent treatment of finance costs and is consistent with local industry practice, making Gamma’s financial statements more comparable. This change in accounting policy has been accounted for retrospectively, and the comparative statements for 2004 have been restated. The effect of the change on 2004 is tabulated below. Opening retained earnings for 2004 have been reduced by $3,640 which is the amount of the adjustment relating to period prior to 2004.

	Effect on 2004
	$

	Increase in interest expense
	(2,600)

	Decrease in income tax expense
	780

	Decrease in profit
	(1,820)

	
	

	Effect on period prior to 2004
	

	Decrease in profit ($5,200 interest expense less tax of $1,560)
	(3,640)

	
	

	Decrease in assets in the course of construction and in retained earnings at 31 December 2004
	18,900


Answer – Exercise 2

For each of the items, ask whether the following answer is yes or not, it yes, it is a change in accounting policy.

· Recognition

· Presentation

· Measurement basis

Therefore:

(a)
The answer to all three questions is no. This is only a change in estimation technique.

(b)
This is a change in presentation and therefore a change in accounting policy.

(c)
This is a change in measurement basis and therefore a change in accounting policy.

Answer – Exercise 3

Statement of comprehensive income

For the year ended 31 December 2007

	
	2007
	2006

(restated)

	
	$000
	$000

	Revenues
	60,000
	50,000

	Cost of sales (32,000 + 4,000)
	(40,000)
	(36,000)

	Gross profit
	20,000
	14,000

	Distribution and administrative expenses
	(4,000)
	(3,000)

	Profit before tax
	16,000
	11,000

	Income tax expenses
	(1,000)
	(1,000)

	Profit for the year
	15,000
	10,000


Statement of changes in equity (extract)

For the year ended 31 December 2007

	
	Share capital
	Retained earnings (restated)
	Total

	
	$000
	$000
	$000

	Balance at 1 Jan 2006
	X
	50,000
	X

	Total comprehensive income for the year
	
	14,000
	14,000

	Balance at 31 December 2006
	X
	64,000
	X

	Prior period adjustment
	
	(4,000)
	(4,000)

	Restated balance
	X
	60,000
	X

	Changes in equity for 2007
	
	
	

	Total comprehensive income for the year
	
	15,000
	15,000

	Balance at 31 December 2007
	X
	75,000
	X
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